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When the following equation s balanced, the coefficient ol Hy would be

PbO3 + ..Hp — ..Pb + .. H0
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Choose the correct formula of ammonium sulfite |
|
(NH4)2S03 .
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When the following equation is balanced, the coefficient of H) would be

' PbOs '+ .. Hyp — ..Pb+ ..H2O
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Which of the following gives the strongest electrolyte when dissolved in water?

CeH1208
KNO3

HF

NH3 _
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‘how many atoms of Ca are in a sample weighing 15 g?
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o the molar mass of the compound (NH4)2804.
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Name the compound HCl (aq)
hydrogen-menachinrida g
hydrochloric acid
ayerseiiviiue

hydrogen monochloride
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eoretical yield (in
moles) for NO, when 6 moles of
NH3 react with 3 moles of Op,

according to the following
balanced equation:

4NH3 + 502 — 4NO + GENE.
HoO E
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Which of these substances is formed by
electron transferring between atoms?

CCl4 () Q
H20 () Q

CH4 (0) O
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formula of a compound that is found to contain 33.38 % sulfur and 66.62 %
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ch set of coefficients will correctly balance the following equation?
..Fe + ..02 — .. FesOj

4.3.20
4230
2.3,40
.21
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A compound has a molar mass of 120.10 g/mol. What is the molecular formula of this
compound if its empirical formula is CHp0?

CsH1005
E4HBD,4 O
CeH1206

C4qHgO2 e
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What is the empirical formula for the compound C4HgCla?

CHCI O
CQH..:G' O

C2HaCl ()
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What is the molarity of KCI solution prepared f il
total volume of 2.0 L? P rom diluting 400.0 mL of 2.00 M KCl to a

0.20M O
0.40 M ®)
0.40 M ®)
2.00 M O
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Choose the correct formula of ammonium sulfite,

[ €| 20 513 Jh-Jl

13 1o

NH4S03
(NH4)2804
SO3(NH4)2 ()
(NH4)2503 ()
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How many bonding and nonbonding pairs of electrons are there in a chlorine molecule
Cla?

Sayiba ol |

3 bonding and 1 nanbonding O
0 bonding and 3 nonbonding
1 bonding and 6 nonbonding )

6 bonding and 1 nonbonding O
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" When the following equation is |

balanced, the coefficient of Hy would
5> SORTRURRR——
Fe + .H2O0 — ..Fe304 +
H2
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| 2 O
| 4 O
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he coefficient of Fo would be

Fe H;J(_J ,
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What is (he oxidation number ol NinNOy'™ 7
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the correct formula of
ammonium phosphate.

.NH4PO4 ®
(NH4)2PO4 ()
PO4INH4)3

(NH2)3PO4
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What is its empirical formula of a
compound that is found to contain
33.38 % sulfur and 66.62 %
oxygen mass percent?
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What s e incal formula for the compound CaHgOa?
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What is systematic name of
Fex(SO3)37?

iron(lll) sulfate O
iron(lll) sulfite (o)

diiron trisulfate O

iron(ll) sulfite O
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ving gives the strongest electrolyte when dissolved in water?

CeH1206 o

KOH

J

HF )
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What is the molarity of KC| solution
prepared from diluting 400.0 mL of 2,00
M KCl to a total volume of 2.0_ Lt

040M(y

l-.}.r_zu-'-lw C)_
200 M O

0.40 M O
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What is the molarity of KC| solution
prepared from diluting 400.0 mL of 2,00
M KCl to a total volume of 2.0_ Lt

040M(y

l-.}.r_zu-'-lw C)_
200 M O

0.40 M O
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carbon tetrafluoride o
carbon trifluoride o5
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Whal is the empirical formula for the compound C4HgO2?

5 Fla]

pr CHzO |

CaH40

i
CHO |
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" Which set of costficients will correctly
balance the following equation?

A+ L0 = L AlpOy
3,21 @)

2.3,1 0
413.20

3.1,20
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| " Calculata 'the thearetical yleld fin moles) for NO, when 6 males of NH3 react with 3 moles of Oz, according to the following

j balanced equation: |

|

4NHz + 503 — 4NO + BHpO (
2.4 moles —, [
3.0 moles — }
4.5 moles ~ r

4 - 6.0 moleg |
!j ' ‘
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132 14 g/mol |
46 06 g'mol

264 28 g'mol .
113.01 gimel
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" Choose the systematic name for the compound PCI3. | ; ﬁ
phosphorus trichloride @

phosphorus trichloride ®
trichloride monophosphorus )

monophosphorus trichloride
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What is its empirical formula of a
compound that is found to contain
33.38 % sulfur and 66.62 %
oxygen mass percent?

SOy O
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i\ Moving to the next question prevents changes to this answer

— s
Question 1
What is the for the compound C4H802’? /\;'2& XQ 59
VéCzin /ﬁ:Q/Vp C\)\ ch %é
)

C2H402

CHO

CH0 C/?_ HU\

A\ Moving to the next question prevents changes to this answer.
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What is its empirical formula of a cc mpound that is found t
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£\ Moving to the next question prevents changes to this answaer.

Question 2

Which bond is formed as a result of unequal sharing of electrons between two atoms of different elements?
ATy
metallic.

ionic. 2
5 Ppolar covalent. Q_ﬂ)
pure covalent.

£\ Moving to the next question prevents changes to this answer.
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the percent yield for a react tical y 125¢g ts actua is75¢
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Calculate the molar mass of the ¢ ompound (NH4)2SC
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Question 8

the strongest electrol/te .
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Which of the following gives the strongest electrolyte when dissolved in water?

—_—

KNO3
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What is the—molarity of a solution if 4.2 moles of NaBr are dissolved in water to make a 1.4 L solution?
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Calculate the molar mass of the compound (NH4)2S03
98.10 g/mol

178.16 g/mol
8

116.14 g/mol
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When the following equation is balanced, the coefficient of H2 would be

\ PbO2 + ZH? ) Pb *! H20
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Calculate the mass percent of oxygen in Ca(OH)2
A————
272 %
I 43.19 %
(Lx K\ 54.09 %
= — A
- 56.81 %
Wor /(| b+\ .00})
‘ PRLAR 4 | lin

| £/ sAM)
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Calculate the theoretical yield (in moles) for N \ 6 moles of NH3 react wi
balanced equation
5

02 — 4NO

moles of Op, according to the following

4

4.5 moles
2.4 moles
6.0 moles
3.0 moles
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Find theémpirlcal formula of a compound composed of 45.77 % S and 54.23 % F
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any moles and how many atoms of Ca are there In a sample weighing 259?
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20 o+ 13 =

40.08 mol, 2.413 x 1026 atoms @

- O ; b’)_’va\ol 0.623 mol, 3.756 omsg/

1603 mol, 9.653 x 102° atoms @

0.623 mol, 3.756 xtcb{_
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What is the percent yield for a reaction if its theoretical yigl#fs 125 g and its actual yield is 75 g?
56.94 %
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Choose the systematic name for the compound PCI3.

monophosphorus trichloride

trichloride monophosphorus
Fwre .,

phosphorus trichloride

@

?\J\ VS\G v
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phosphorus trichloride
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A compound has a molar mass of 120.10 g/mol. What is the molecular formula of this compound if its empirical formula is CH20? 1
CeH1206

C4HgO2
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2.0\ +7X\ +16 A

CsH1005 9 !1

Ca4Hg04 N l}
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What is the empirical formula for the compound C4Hg02?
CH20

CC2H40 DS
C2H402

S\

CHO
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Name the compound HF (aq)
hydrogen monofluoride
hydrogen monofluoride acid
drofluoric acid

hydrofluoride
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diiron trisulfate

— “\
(} // 'Z — Cg\/vP iron(l1l) sulfate

iron(l11) sulfite )

iron(Il) sulfite
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How many bonding and nonbonding pairs of electrons areé there in a hydrogen molecule H2?

lbo hdlﬁg/ 1 bonding and 1 nonbonding

0 bonding and 1 nonbonding

‘ 1 bonding and 0 nonbonding )

3 bonding and 2 nonbonding
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What is the oxidation number of N in NO31‘ ?
+5
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What is the type of the substance SO2?
molecular compound.

atomic element.

@
molecular element. @
jonic compound. @
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Which set of coefficients will correctly balance the following equation?

WAI + 302 —»2A1203

€120 105

Layles o “""“"”*"‘"’"‘s ~







»0:¥4 @ Stay Home- Mobily I
& Ims.taibahu.edu.sa |

<20 516 JI° _
Slymds chal I JEY | a1

16 Jl el

according  to.
balanced eqguati

| 4.0/moles O
5.0 moles @

4.8 moles O

3.2 moles Q
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How many moles and how many
~oms of Ca are in a sample
werghmg 15.97

A

4 0.734mol, 1.14 x 1024 ato O

'3.74 mol, 3.20 x 1023
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How
nonbonding pairs of electrons are

there in a chlorine molecule Cl2? “

3 bonding and 1 nonbonding )
6 bonding and 1 nonbonding ) G
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Indicate the formula of sulfate ion.
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Calculate the theoretical yield (in moles) for NO, when 5 moles of NH3 react with 6 moles of Op, according to the following
balanced equation:

4NH3 + 502 — 4NO + 60

5.0 moles

o
4.8 moles ®
3.2 moles @
/ 4.0 moles P
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Which set of coefficients will correctly balance the following equa
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-5 A\ Click submit to complete this assessment.

Question 20

How many bonding and nonbonding pairs of electrons are there in a hydrogen molecule H2?

1 bonding and 0 nonbonding /
-0 bonding and 1 nonbonding

1 bonding and 1 nonbonding

3 bonding and 2 nonbonding / j/

» A\ Click Submit to complete this assessment.
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How many mo
le
s of (NHy4)pS are there in 102.21 g of (NHg)2S?
j 4/2%"

‘ 0.66 moles
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compound composed of 45.77 % .
Sand 54.23 % F '
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| Identify thew in the following redox reaction: ‘ e ﬁ

X Zn(s) + 2H @g) — Zn?*(aq) + H2(g)
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A\ Moving to the next question prevents changes to this answer.
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; Question 15

Which set of coefficients will correctly balance the following eq
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A\ Moving to the next question prevents changes to this answer.
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Find the empirical formula of a compound composed of 29.67 % S and 70.33 % F

SF3

SF4

) SF2

SF
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A\ Hving to the next question prevents changes to this answer.

Question 14

Calculate the mass percent of oxygen in Ca(OH)2

2.72 %
56.81 %

54.09 % j
S 43.19%

A\ Moving to the next question prevents changes to this answer.
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Identify the oxidizing agent in the
following redox reaction:

Zn(g) + 2Ht (aq) —
2+
Zn“" (aq) + H2(g)

Zn2 O
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> A\ Moving to the next question prevents changes\o this answer.
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Choose the correct formula of ammonium sulﬁte.\

-, SO3(NH4)2
, (NH)2504 '1)4.303

® NH4S03 -‘_ L

(/\’pw 2/503

/i Moving to the next question prevents changes to this answer.
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A\ Mowi, _ (o the next question prevents changes to this answer.
Question 11

§ How many moles and how many atoms of Ca are there & pl&eighing 25 g~
0.623 mol, 3.756 x 1024 atoms )
40.08 mol, 2.413 x 102% atoms
= 0.623 mol, %756 x 1023 atoms
1.603 mol, 9.653 x 1023 atoms
A\ Moving to the next question prevents changes to this answer.
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A\ Moving to the next question prevents changes to this answer.

Question 9

)2S03.

Calculate the molar mass of the compound (N

o 116.14 g/mol
98.10 g/mol
80.06 g/mol
178.16 g/mol

% Moving to the next question prevents changes to this answer.
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Calculate the mass percent of calcium in Ca(OH)2

272 %
43.19%
56.81 %

54.09 %

LaYliea b o PR e |
- pdd ol pal Al gl b ey . l /

@20.#6.:‘)—1'

o -0V —
e P A~ ~ =
- ¢ - 2 ian

:







20‘_,.-5JMI i
uL&hab&j@UlJMf JE gy

5 Jleall

noles of (NH4)ZS are
there in 102.21 g of (NH4)28’7

2.5moles ~
2.0 moles @

0. 6 ';moles"-ﬁ
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What is the type of the substance S02?

ionic compound.

molecular element.

tomic element.
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A\ Moving to the next questiun prevents changes to this answer.

Question 8

A compound has a molar mass of 120.10 g/mol. What is the molecular formula of this compound if its empirical formula is CH20?
CgH1206
C5H1005

CaHgO
134"84

C4HgO2 /

A\ Moving to the next question prevents changes to this answer.
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What is the oxidation number of N in NO3 - 2
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A\ Moving to the next question prevents changes to this answer.

Question 7

5
. What is the percent yield for a reaction if its theoretical yield is 114 g and its actual yield is 73 g~
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A\ Moving to the next question prevents changes to this answer.

Question 6

Which of the followingagives the strongest electrolyte when dissolved in water?
KOH
= /

HE
CeH1206

NH3

£ Moving to the next question prevents changes to this answer
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When the following equation is balanced, the coefficient of Fe would be ...

| 3 Fe +(4 HO — lFe3O4 + U H
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How many moles and how many atoms of Ca are there in a sample weighing 25 g?

40.08 mol. 2.413 x 1028 atom:

0.623 mol, 3.756 x 1024 atoms
/ 1.603 mol, 9.653 x 1023 atoms
0.623 mol, 3.756 x 1023 atoms
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